
H2

(
P2

k
:Z

)
= Z1:k

= ZK:Kú

K
ú

= E
k

root lattice

rat
0

= roots = BPS instantons

{
A|A = −2

K|A = 0

s
A

(C) = C + A|C
Y [

A

s2
A

= id

s2
A

(C) = s
A

(C) + A|s
A

(C)
Y [

A = C + A|C
Y [

A + A|C + A|C
Y [

A
X Z

Y [

A = C + A|C
Y [

A + A|C
Y [

A + A|C
Y [

= −2

A|A
Y [

A = C

s
A

(C) |s
A

(
C

′)
= C|C ′

LHS = C + A|C
Y [

A
X Z

|C ′
+ A|C ′

Y [
A

X Z

= C|C ′
+ A|C
Y [

A|C ′

Y [
+ A|C ′

Y [
C|A
Y [

+ A|C
Y [

A|C ′

Y [
= −2

A|A
Y [

= RHS

s
A

(K) = K � s
A

(
K

ú
)

= K
ú

roots

{
C

i
− C

j

C0 − C
i
− C

j
− C

`

C
i
− C

j
Y [

|C
i
− C

j
Y [

= C
i
|C

i
+ C

j
|C

j
= −1 − 1 = −2

−K|C
i
− C

j
Y [

= 3C0 − C1 − ··· − C
k

Y [

|C
i
− C

j
Y [

= −C
i
|C

i
+ C

j
|C

j
= 1 − 1 = 0

C0 − C
i
− C

j
− C

`
Y [

|C0 − C
i
− C

j
− C

`
Y [

= C0 |C0 + C
i
|C

i
+ C

j
|C

j
+ C

`
|C

`
= 1 − 1 − 1 − 1 = −2

−K|C0 − C
i
− C

j
− C

`
Y [

= 3C0 − C1 − ··· − C
k

Y [

|C0 − C
i
− C

j
− C

`
Y [

= 3C0 |C0+C
i
|C

i
+C

j
|C

j
+C

`
|C

`
= 3−1−1−1 = 0

simple roots

{
A

i
= C

i
− C

i + 1
1 6 i < k

A
k

= C0 − C1 − C2 − C3
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